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ΔTb = i Kb m				ΔTf = i Kf m
1. What is the change in boiling point of a 1.25 m solution of sugar in water? The Kb for water is 0.52 °C/m







2. A solution was prepared by dissolving 0.42mol hexane into 500g CCl4. What is the change in freezing point (vs. pure CCl4) of this solution? The Kr for CCI4 is  30.0 °C/m








3. A solution was prepared by dissolving 0.16 mol ethanol into 7509 ether. What is the change in boiling point of this solution? The Kb for ether is 2.12 °C/m








4. A solution of antifreeze (covalent compound) in your car's radiator has a freezing point of -20.0 °C. What is the molality of the solution? Kf for water is 1.86 °C/m








5. Calculate the boiling point of a solution made from 227 g of MgCl2 dissolved in 700.0 g of water.  What is the boiling point of the solution?    Kb = 0.52° C/m.

6. If I add 0.26 moles of aluminum bromide (AlBr3) to 500.0 grams of water, what will the boiling point be of the resulting solution?  Kb = 0.52 °C/m








7. What is the molality of a solution of water and SrBr2 if the freezing point of the solution is –3.34 0C? (Kf  = 1.86 0C/m)







8. If I add 0.325 moles of Aluminum bromide (AlBr3) to 946.0 grams of water, what will the freezing point be of the resulting solution?  Kf = 1.86 °C/m







9. How many moles of salt would he need to add to 2.50 kg water to make the water boil at 105 0C? The Kb for water is Kb = 0.52 °C/m





10. What is the freezing point of a solution that contains 68.4 g of sucrose,C6H22O11, is dissolved in 3400 g of water? (Kf  = 1.86 0C/m)

